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[Tpumep 2.
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[Tpumep 3.

BBoa A, B, C.




KoMmaHaa BbiBOAA

DLIDA

A AMAM VH

DLIDAN

Ad A A A VH




NcnoslHeHe KOMNbTEPOM
BbIUUCJINTENIbHOIO aJiropuTMa

ITAMATH
Beon A HPO}[ECCOP
AJIT  CIIOKCHHE - slueiika A < n
JIaBHUa- >

oea A’ B, C Typa Beoy B Suerika B
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3agaya N°1.
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OTBeT: S=57.




3agaya N°1.
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3agaya N°1.

B)

OtBeT: S=-15.




3agaya N°1.

OtBeT: S=20












ANropuUTM pelleHns 3ahauu:

BBoag X,Y
Z.=X
X.=Y
Y:i=Z

BbiBoAg X, Y




TpaccmpoBo4yHas Tabnuua

KomaHaa X Y /

86800 X, Y

Z=X

X=Y

Y:=Z

8b1800 X, Y




